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PRI & oy <Y/ Instructions to Candidates
Ul B SR o ¥ el freferad e @1 e @ ufew

Read the following instructions carefully before you answer the questions -
1. AERE AT 96T Ugel 90 fA9ie # 81| 1 Mental Ability Test shall be completed in first

gz fere Frradr wderor fora S | 90 minutes. Scholastic Aptitude Test will
HARTS Argam g & ueAr & saw feg followit.

U TR USSP R A ) Answers of the Mental Ability Test is to be
o1 90 e & WA R WRie draer  markedingiven OMR sheet.

SR U o ForT SITe The Mental Ability Answer sheet w1ll
TR T o ! collected after first 90 Minutes. SECURITY

2 JUAT TS FHR, SiET fF omud waer g H 2 Please write your Roll No. as given on y SEAL
fear T 8, wee feoiRRgu (T dfad § dae Admission Card, very clearly (only one dig_. ___
U 3ih) U8 & W b dIg i R 71 38 one box). Please see that no box is left unfilled.
STq |

TR ; Example :
3(3|0|1|8(0]4]|0(3]|]2]|1]|5 3|13(0|1]|8|0|4(0(|3]|2]|1]5
3 gg el STYNTH | 9T — 92| H 90 w99 3 Thetestisin tWo parts, Part - I consists of 90
2 | U U U 3 BT & | questions. Each question carry one mark.
ARI® AT — 45 9349 (1 9 45 T) Mental Ability -45 questions (1-45)

30 — 20 Yo (71 3 90 ) English -20 questions (71-90)

4 YD U Bl IR STR—UFP H 99 W39 4 One oval of correct Answer should be
F&r & 9He Ry v At § |9 |8 darkened by the candidates with HB pencil of
fade arelt W & fae # v df afaa corresponding question of the OMR sheet
A WEIT BTAT PR QIIY | TERT BIAT F B If scanner is unable to read the darken oval
R @R gRI 9 U OH & RTHERT W& then all the responsibility lies on the
wRiemeft @ Brfr | At SR e B9 W) candidate. If oval is wrongly filled by the
gTAT gre, o S99 YR 9 fAerex add H candidate he is free to erase it & darken the

|E DI gfcf B THd 3 | correct oval.
dIe : 39 gRAPT 7 79T el TR Td B BRI D Y AT MY I W DHael I% BRI BRA
% faRad ®el g 7 faiay |

Note - Do not write anything anywhere in the booklet except your Roll Number and Rough Work at
the place meant for it.



9% (1—3) / Question (1-3) Fder : Uhe e # Ueh we=m #of < 78 & o U g T
2, PR v o R (?) & <uitar T g | 9% ug 99 Aol @ e g Ty AR fadet
(G A TP © | 98 AT & —

Directions : In each question there is a number series with one term missing shown by question
mark (?). This term is one of the alternatives among four numbers given under it. That number is -

(1) 10,100, 200, (?),430

(1) 310 (2) 400

(3) 410 (4) 420
(2) 3,7,16,35,(?)

(1) 39 (2) 70

(3)74 (4) 80
(3) 11,13,17,19,(?), 29

(1)21 (2) 23

(3) 25 4) 27

UeT (4—6) / Question (4-6) FIEer : 1 yeai # 7% # o AT TS Sl A H QT
T vap Ue a1y & | U Ug A ford o faded # 9 U% © | 31gE UK § —

Directions : These questions consist of a number series which contains a wrong term. This term is
given as one of the four alternatives among the four numbers given below. The wrong term is -

(4) 32,39,45,52,54

(1)39 (2)45

(3)52 (4)54
(5) 3,7,9,28,27,84,81,448

(17 (2)28

(3) 84 (4)81
6) 10,15,26,35,48,63,82

(1)26 (2)48

(3)63 (4) 82

79 (7—10) / Question (7-10) FIEer : Ueies Ueet # oK WWE € | U g AY < e W
fo<dt gfic & =1 & | 39 =1 AvE @l ¢feu —

Directions : Each question consists of four groups. One group is different from the other three in
some way. Find out the different group -

(7)  (1)PSRQ (2) CGEF
(3)JMLK (4) VYXW
IB BT
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®) (1)81 (2) 100
(3)125 (4) 144

) (1)AZBY (2) CXDW
(3)EVFU (4)HSGT

(10) (1)BAT / Chair (2)¥e / Stool
(3)WS / Table (4)®HraR / Furniture

U% (11—13) / Question (11-13) Frder : f wredtt & vap ot #iofl < 778 & forers & e uq
e &, FORY weel e e (?) & <=1 a7 2 | e U & %9 B STR UAd | Ul |

Directions : In the following questions there is a letter series with one term missing shown by (?).

Find this term -
(11) BHU,DIJR,FLO,(?)
(1) HNK (2)HCL
(3)NML (4) HNL
(12) F7H,L13N,P17R,U22?
D)V Q)W
3)Y ()Y
(13) CXEV,GTIR, KPMN, OLQJ, (?)
(1)RITG (2)IRLO
(3) HSFU (4) SHUF

UeT (14—16) / Question (14-16) fder : U wed # g1 AT ¢ & | TS 3ax / 9T}
frery frem g1 e Ay €1 g § | 9e u%e H ve ga & o (?) fre e mar g | v
Rerer v BT 4R & forg | fased gy |

Directions : In each question there are circles. Certain numbers are given inside/outside the
circles according to a particular rule. In each question one of the circle has a (?) mark inside it.
Choose the correct answer to fill in the space marked (?) from the given alternatives.

2 6 9
(14)
oNolxo!
3 i/ 10

(1)e (2)8
(3)12 4)13
X% B
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(15) 8 8
ON !
13 12
(1)3.7
(3)4
(16) 5 3
4 2
(1)196
(3)270

.

On
12
2)3.9
(4)4.1
5

0!
6

(2)256
(4)320

e (17-19) / Question (17-19) forder : F=rifera wemt # <1 1€ aeR AfTAT § o er

TRIE & | ye 93 & A 3y 7Y IR fawmedt § 9 Us el HH &l fabed gy |

Directions : These questions are based on letter series in which some of the letters are missing.
The missing letters are given in the proper sequence in one of the alternatives among the four

given under each question. Find out the correct alternatives for each question.

(17) aa_ba aa ba
(1)abab
(3)aabb

(18) a_caab aabc___ bca
(1)bcaa
(3)baca

(199 bam_ amb__m__a_ ba
(1) mbabm
(3) mabma

(2) baba
(4)bbaa

(2)acba
(4) cabb

(2) abmab
(4) ambbm

9 (20~22) / Question (20-22) frcer : o & = @t # A Y WS el BIST TAT & qA
Sy WUl 3 e ford) S & o Rl fafdree e &1 uTere wRelt © | S fE ol St R

gue (?) B fore Sfd faweu giHv |

Directions : Out of nine cells of a square one cell in left blank, and in the rest of cells numbers are

written which follow some rule. Get the rule and find out the proper option for the blank cell (?).

NMMSE 19 - MAT
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(20) 1 5 9
4 8 12
7 9 15
()11 )13
(3)15 (4)17
(21)
3 15 4
7 38 5
3 9 5
()15 (2)18
(3)19 (4)20
(22) 1 6 7
2 5 9
3 4 9
()18 (2)10
(3)13 4)16

T% (23—24) / Question (23-24) AU 7Y faehedl § | o< UG BT STd BT |
Directions : Find out the missing one from the given alternatives.
(23) 6:(2)::12:60

()10 ()12

(3)15 (4)30
(24) 11:172:53:(2)

(1)el (2)63

(3) 64 (4)69

(25) fag Ty for & of oY A= sired B |

Find out the number of squares in the given figure?

(1)20 (2)25
(3)26 (4)22
% B
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T (26—29) / Question (26-29) fder : i <1 78 ARVl # W= IR W™ IR U 7 |
TR 13 o 7T 3ol & 9 31eRl &1 W™ 113 Hehd BRep [Tkl 1T 8, IR I8 Sl A
F EY ® RO pH # W 19 ford & | T [T W™ 11 & |1 T8 ¥ eI PR I8
T I B IR @ —
Directions : In the below table Column I and Column II are given. In Column I below some words
are given. In Column II their codes are given but are not arranged in the same order in which they

are in Column I. Study the letters in both the column and find out the code to the letter given in
each of the following questions. ’

(26)

27)

(28)

(29)

¥ I/ (Column—1I)

CLOUD

MOON

SKY

STAR

SUN
'S' BT HHAER & / Code letter of 'S'is::
()b (2)c
(3)h (4t
'U'hT GpdieR & / Code letter of 'U'is :
()b (2)d
BG)yw (4)s
'0' BT FHARR & / Code letter of'0'is :
(Du 2)v
(3)x @r
'N'PT FGHARR & / Code letter of N'is :
(b 2)d
(3)s (4)w

&I 11/ (Column—1II)

durxs

WXXV
tbh
pcba

bwd

U%T (30—32) / Question (30-32) Fder : o1 et # 9 U@ # IR—4AR for Ay 710 € |
=8 A U 2 31T O Al &1 Tl | S 3 &1 el A SI1d DIy |

Directions : In each of the following questions four figures are given. One of these figures does
not fit the rest of the figures. Find out that serial number.

(30)

@ @

(1) @

<9 (&

€) “)

I% HrA
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(3D

(32)

Y
A

o/

(1)

(2)

]

]

(1)

)

>

3)

[

3)

U9 (33—34) / Question (33-34) f<er : f=ferlRad gw=r & () P qg AR A L Qv
ATl # F ey | g8 Hay Fife SR P <) uat 7 | R A ue ug e 2 | Ry Mg
el | 99 g U BT ST BN |
Directions : In the following questions there is some relationship between the two figures on the
left of (: ;) the same relationship exists between the two terms on the right in which one is missing.

Find the missing one from given alternative.

(33)
= D) 1= 1)
(1) (2) (3) 4)
BRI ] gl |2
MMl g Ak 0
(1) (2) (3) 4)
% B
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¥ (35—37) / Question (35-37) forefer : Rl & &1 wwgg faw 1q R | vop g v qen
SERT STR—T3 &7 © | U3 3 oY fooell uop w1 & epafRerd famam 17 ¥ | SR R & @
TS o 7 =g HRAT & S T B HAAR 3T ST Off 99 | Fafid Sav—2 &1

TET BHHID ST DI |

Directions : Two sets of the figures given. One set of question figures and another set is of answer
figure. Question figures are arranged in a sequence. One figure from the answer figures is to be
selected such that it can be placed after the series of question figures. Find the correct serial
number of the selected answer-figures.
(35) W= / Question figures

I<R—I= / Answer figures

(1)

()

(36) "= / Question figures

AN

N

STR—T / Answer figures

oy

J

()

)

3)

4

3)

(C))

NMMSE 19 - MAT
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(37) W3 / Question figures

£ [5§] ] [#

ITR—IH / Answer figures

& | |fE| & |cF

(1) 2 3) “@

U9 (38—39) / Question (38-39) Fder : urdl & <y 7y R W MR ywA @ TE
faweg g |

Directions : Find out the correct alternative of the questions based on the Dias figures.

S

37 4 B FAIT g8 IR BIA] G=A1 BRY?

The number opposite side the face having the no. 4 will be?

(1 (2)2

(3)3 4)5

B~ N < I o

3 6 B fAIRIT T8 TR DIl H&AT BIT?

The number opposite side the face having the no. 6 will be?

(1 (2)2

(3)4 4)5

T (40—41) / Question (40-41) fder : fr=ifdsst el # ug (1elR / wies /| / o) &
gfafem gdor % geefea @ 2 | gder @ Refa <1 1% 2 | Ry 1 et § |8l ufdafes
Y |

I% HrA

NMMSE 19 - MAT P.T.O.
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Directions : In the following questions visualize the image of the correct item.

(40)
/< @I / Mirror
(1) (2) (3) 4)
(41)
NTSE19 P / Mirror
(1)@12TN (2)e1d2THU
(3)9192TU (4)e1d4STU

(42) 1P 6 IO TSI B A S AR €S D Y3 D 77 fhaA 3T &1 dror gem?

What will be the angle between the minute hand and the hour hand of a clock at exactly 6

o'clock?
(1)90° (2) 100’
(3)120° (4)180°

(43) 3707 30 Hiex STR B ST © R 98 370 MMl 3R SR 40 AT <Ieral © | g8l
A Y: QIR IR PR 20 AR Tl 8, R G: el SR B 40 HieX Ferd
2 | I8 9 AT RS Rerfdy 3 fham #iex a5 gy iR 27

Arun goes 30 meters North, then turns right and walks 40 meters, then again turns right and
walks 20 meters, then again turns right and walks 40 meters. How many meters is he from

his original position?
(1o (2)10
(3)20 (4)40

(44) foyeifera Sroft % 01 e 6 & RoT9a S Ugl '8’ e IR SId dIg | '3' 27
How many '6' are there in the following sequence which are followed by no. '3' and
preceded by no. '8'?

9486327186898136897863136843235

(1)2 (2)3
(3)4 45
Y% HR
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(45) f&AATP 3 TI=R DI FTE BT WHAR B 31X I I8 ollI—a9 ® | T a9 918 S faia
B TS BT DT a1 BIT?

On 3" November, the day of the week is Monday. This years in leap year what will be the
day of the week on this that after three years?

(1) Monday (2) Wednesday
(3) Thursday (4) Friday
(46) 'IMIROT ¥Tg BT Y faewE & —
(1) 3143 + RVY (2) 19T + 3RTY
(3) 317 + 3Ry (4) 3197 + 3TRY
(47) ’w—?’ﬁmwﬁwwﬁaﬁwﬁmﬁlmﬁmﬁﬁwﬁww
TPR & —
(1) IgoY AN (2) BHERT FHTH
(3) fag wmra (4) grgraT
(48) 'der @1 yTTard A H | A8 § —
(1) 3= (2) g
(3) g (4) 77
(49) = # 3 fpet & Suwt =181 & —
(1) ATt (2) AT
(3) e (4) APR
(50) Hrefy wRf, |fesdt TR, A1 9 favamet | ufde | iR & —
(1) T9% STABR (2) arforeranfa sreidR
(3) YT IFTPR (4) SUHAT ITADBR
(51) fferRad o & g ¥rea 78l & —
(1) Soorad (2) Irafte
(3) ameffarg (4) <argat
(52) " =Ny BT ST B ATt & oY U wres BT —
(1) Fegor (2) =hferr
(3) e (4) fostam
Y% B

NMMSE 19 - MAT P.T.O.



(59)

(60)

13

" SATel—Gre BT HETaR BT 31l § —

(1) TRRE BT (2) =T BT

(3) Area e # B (4) w1 B
IR ER BT AIRT B KTt foram | Xaifhd e § PR © —
(1) Hee PRD (2) JrUTETE HRE
(3) HEEA HRD (4) HYSTE BRD
HeRIR’ 9Teg T 372 & —

(1) g (2) Herer

(3) wraTE & dr (4) HoeTE

o' 9Teg BT IGHE BU & —

(1) @aoT (2) o

(3) BRIT - (4) @1
aaaﬁ?agﬂzﬁ‘r#cgﬁﬁ—c{maﬁmgrmﬁmm—

(1) % aRkrs = (2) wef§ arefier =
(3) o faearfia = (4) w=f¥ dgem =
Qoo AT s fae Rt R & —

(1) el o ) g1 ¥

(3) HaTSHTEGR | ORESISUCR
T BHR B qUT ERT ® —

(1) feeett (2) SR

(3) SRYR (4) 3oTRMR

e areed A Aier T £ 17 ared # Y@ifed ue § -
(1) forar fa=rgor (2) faeryor

(3) 31y (4) foroma

ﬁéﬂ:—ﬁwﬁrﬁﬁmﬂﬁwaﬁwmm(m)ﬁ(es)wa%wﬁﬁﬂﬁ

SRR W9 TH—TIIRE TS 9 79 SIfeiTaTaT AT Wb AR st g3, fore

I% B

NMMSE 19 - MAT P.T.O.



(81)

(62)

14

Fepel FRIRME IR BT el BT RidR BF1 ueT | Siferdiare 9nT =Rl AR 9
SA—Sd IRl & foRT U6 A o7 | F8T BT R g o1 DT AT | T i
Stferafarer arT § |91 81 <& off | Sd e TReR & fasgy W T 81 32 o | [T
Tl XE1 oY b A1 Y U ThS! B AT U SR SIAR GBI AT AR S 3=
He— el Wig R Mt Terarr gs o= &A1 | 318 T suR el IR T

3R g ESIR BTl 81 7Y | AR IR # 1Y P ofex < T8 |
SIferITaTeT AT ERTHTS & THY A-R2UER bl A o —

(1) &t 7 (2) AT—31TS Y

(3) rEE—IeTE I8 (4) TH—TaRE a9

“TET BT TR TG B covrervrrren o1 | ReTeer B el I & —
(1) =reT (2) HepxT

(3) Ta (4) e
“Siferdtarel T 21 —

(1) v @ (2) T faemera

(3) v e (4) Uap et

TR AR § ex Al TS —

(1) e I (2) g @t

(3) fasrg 1 (4) 3fTig B

“iferl TrerarT 6 R T | Xaifa g o1 wErei T8 8 —
(1) 3™ (2) U=

(3) =T BRAT (4) @S

frder— FrafoRad Uiy B Ygdx U | (66) ¥ (70) Teb B SR AITY —

(66)

"qg HI HIg TS ATd 7 A1 SRS Tl |
AR I ISR 31 TR qUT | ATl Fel | |
T IR ARE G ¥ 519 AT 7 9 GETRE |
Tq S 7 GerIaT A1 T 9o SATREN | |

I U b AT & —

(1) PR (2) TR
(3) <& (4) GoreiTeTE

Y% B

NMMSE 19 - MAT
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(67) ‘DHT B SUHT &I TS B —

(1) OR¥ 1 (2) BTl Y
(3) §& @1 (4) =TTep BT

(68) fd 1 ‘FUI Tes fova forq wgart fbar & —
(1) e (2) TR
(8) X ONLE]

(69) TRET BT THH T © —
(1) weror (2) TeFOT
(3) e (4) o

(70) Ueuie ¥ frdds) ATE B 97 991S § —

(1) TereieT B (2) TIRY B
(3) X9 DI (4) o= B

Q.No. 71-74 — Read the following passage and answer the questions that follow:-

Every evening, the animals of the village Orange city used to sit under the banyan tree.
One day Kho-Kho, the rabbit, was feeling bored. He said, "Let's run a race!" "Who will
run a race with you? No one can run faster than you," said Bhalu, the bear, eating a mango.
Choo-Choo, the rat, shouted, "No, he's not the fastest runner. I can run faster than him."
Everyone laughed at him. Then it was decided to have a race between Kho-Kho and
Choo-Choo. The starting point was the Peepal tree and the finishing point was the Neem
tree. Coocku, the cock, crowed to start the race. As soon as Kho-Kho started running,
Choo-Choo jumped onto his back. After running halfthe distance, Kho-Kho looked back,
but Choo-Choo was nowhere to be seen. "He must be far behind," thought Kho-Kho and
he smiled to himself. When he was near the finishing point, Choo-Choo jumped over
Kho-Kho's shoulder. He touched the Neem tree first. He shouted, "I've won the race!"
Everyone cheered for Choo-Choo.

(71)  Inthe passage Kho-Kho refers to the name of —

(1)agame (2) an animal
(3)aplace (4)abird
(72)  Which tree is NOT mentioned in the passage?
(1) Banyan tree (2) Mango tree
(3) Peepal tree (4)Neem tree
I% Hrd
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(73) Whosignalled to start the race?

(1) rabbit (2) bear

(3) rat (4)cock
(74)  Who touched the Neem tree first?

(1)rat (2) rabbit

(3)bear (4) peacock

Q. No. 75-76:- Choose the correct article for the black space:-

(75) T'lltell youatale of the animal which has _tail.
(1) the (2)a
(3)an (4)None
(76) Ifoundonly one-rupee coin in your pocket.
(1) the (2)a
(3)an (4)None
(77) Choose the correct preposition for the blank space. He put the ladder _the wall.
(1) with (2)to
(3)in (4) against

Q. No. 78-79:- Choose the opposite gender for the given words:-
(78) Nephew

(1)nice (2) niece

(3) neice (4) nephewess
(79) Wife

(1) hisband (2) hasbend

(3) husband (4) husband

(80) Choose the word with a different sound of the underlined letters:-
(1) beat (2)lead
(3) sweat (4) read

(81)  Choose the correct opposite word for 'sell':-

(1)bye (2) buy
(3)by (4) sale
P BT
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(82) Choose the word which is misspelt:-

(1) sacrifiece (2) martyr
(3) entire (4) cruel
(83) Choose the word which is spelt correctly:-
: (1) ocassion (2) massacre
(3) suffocution (4) vahicles
(84) Choose the word which has similar meaning for the word 'thrive":-
(1) to throw (2) to praise
(3) to prosper (4) to think
(85) Choose the correct one word substitute (answer) for 'the scientific study of the sun, the
moon and the stars":-
(1) agriculture (2) anesthesia
(3) surgery (4) astronomy
(86) Choose the correct 'plural' of the word 'baby":-
(1)babys (2) babeis
(3) babies (4) baby
(87) Choose the correct pronoun:-
We are only two players from country.
(D)my (2) him
(3)our (4) mine

(88) Choose the correct arrangement of words to make a meaningful sentence:-
plan for/is a detailed/a journey / an itinerary
(1) anitinerary a journey plan foris a detailed.
(2) an itinerary is a detailed plan for a journey.
(3) ajourney is a detailed an itinerary plan for.
(4) plan for a journey is a detailed an itinerary.

(89) The following sentence is divided into three parts. Choose the part which has an error.
The enemy wanted/ to kill everybody / whichever they encountered
(1) (2) (3)
(H1 (2)2
(3)3 (4) No error

(90) Choose the sentence whichis NOT correct:-
(1) This is a banyan tree which has aerial roots.
(2) This is the village who everyone is literate.
(3) The tenants who lived in the surrounding houses have left.
(4) Do you know Anushka who won the first prize.
o o ofe sk ok sfe ke sk sk ok

IF BRI
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RIeT .

Roll No.

NMMSE 19 - SAT

A Mg 9 AR WiarRa 9 fEr — 2019

15484;

(Pem — 8 ¥ IeggRa faenffat & fam)
NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION - 2019
(For Students Studying in Class - 8)

e i gar gdleor
Scholastic Aptitude Test

AT / PART Il

[THT : 90 fAee

Time : 90 Minutes

quTies : 90

Max. Marks : 90

et & foly <91/ Instructions to Candidates

Read the following instructions carefully before you answer the questions -
37U el TR, SieT fb 3Mmu@ ud9r g5 1 Please write your Roll No. as given on your

¥ fear w8, W fofay (v dfery A

Admission Card, very clearly (only one digit

HIl U 3ih) Jg & ¥ b PIg dra in one box). Please see that no box is I ~

Red 7 38 WY | unfilled.

SEE LB Example : gé%"".y
313|018 |014[0]13[2]4]5 313 ]0|1]|]8]0]|4]013]|2

qrr — fada # 90 wew 21 v s
TP 3P BT 8 |

ol o= — 35 9% (1 9 35 )
AT fasi<i—35 U9 (36 9 70 &)
TRTT — 20 U%4 (71 | 90 TD)

YAP U9 BT SN SON—UFAD § I

o Ll

Part - II consists of 90 questions. Each
question carry one mark.

- 35 questions (1-35)
-35 questions (36-70)
-20 questions (71-90)

Basic science
Social Science
Mathematics

One oval of correct Answer should be

e &7 B AT feu 71U fAwoul # 9@ darkened by the candidates with HB pencil of
el fddpey arell S & Mad & v &) corresponding question of the OMR sheet
Ufeger @ T BreAr Y ST | TR If scanner is unable to read the darken oval
BIAT B R ¥R gRT 9 g S &1 then all the responsibility lies on the
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(1) FreiferRae 3 9 wefe @e & -
Which one is the natural manure -
(1) IRAT / Urea (2) 9rerer / Potash
(3) TH HHRE / Vermi compost  (4) qur BHRHE / Super phosphate

(2)  SiE—vi=g vd Us—uril &1 WA yonfoRit et oig o ufdfHif adam 3§ shfad =2
g, PEdl & —

Those species of plants and animals whose any representative is no longer alive are
called -

(1) g9~/ Endangered

2) ﬁ'@ﬁ / Extinct

(3) wrepfcres raTal § fdq@ / Extinct in natural habitate
(4) ey &= / Endemic

3)  ueRia ey faa % rifiTe UST=H BT BIHAT YHR YTIT ST 87

Which type of asexual reproduction is found in shown diagram of a plant?

KB DOOXT POOKK

/N
KBOOL  X0POOXK

(1) fd@vST / Fragmentation
(2) 5% / Budding
)
)

(3) | fS¥oT / Spore formation
(4) BT UG / Vegetative propagation

(4)  BRR BT AT BT URILT 91T BoR HOTHRN | a7 BIar 87

About how much percent of blood is formed of corpuscles?

(1) 90% (2) 70%
(3) 60% (4) 40%
I% B
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(6) AT BT HT FARYT B dTell IR & —
Virus that transmits cold is -
(1) ERISAT SIREX / Varicella zoster
(2) IS IR/ Rhino virus

(3) Tiferar araR™ / Polio virus

(4) T $RIAT 979X/ Human immuno virus

(6)  ureTl ¥ St BT uRaEH BT E —
Water transportation in plantis -
(1) SIT$e™ & §RT /By Xylum (2) ¥EITH & §RT / By Phloem
(3) & @ §RT / By vesicle (4) aiRTal & RT / By leafs

(7)  ufcrad 5 SE” B BT fEad FHRI S 87?
Every year"5 June" is celebrated as -
(1) faea ST fdg / World Population Day
(2) fareg yafaRor &g / World Environment Day
(3) yeeil fegw / Earth Day
(4) faeg 3fisiA fdaw / World Ozone Day

(8)  ¥hdl R foheT faeTf®e o1 1 9 Bicl 87
Which vitamin's deficiency causes scurvy disease?
(1) faeri®= v / Vitamin A (2) fer®= €1 / Vitamin B
(3) faer™ = 41 / Vitamin C (4) faerf = €1 / Vitamin D

(0)  frrferRaa # ¥ fara 3T &1 My FIE IR AR U ST 87
The villi are present on the inner surface of which of the following organ?
(1) 3MHTET / Stomach (2) gaT= / Smallintestine
(3) 98T / Large intestine (4) 3T=ATIT / Pancreas

(10) Fr=feRae # W BT ERAM AR WER § Biewras @ W) Bl (a3 e 87

Which of the following hormone regulates calcium level in our blood?

(1) O=T TSRS S BRAM / Para thyroid hormone

Y% Hrd
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(2) oA BRAM / Thymosin hormone
(3) eI gREA / Thyroxin hormone
(4) TSHfer 8RHIM / Adrenaline hormone

(11) eH > eI HBAE —
Heart of frog have -
(1) @ amfer= Y& e/ Oneauricle one ventricle
(2) Th anfer< g1 T/ One auricle two ventricles
(3) g1 e Ud e/ Two auricles one ventricle
(4) <Y 3mfer= &1 Mol / Two auricles two ventricles

(12) wAoforal & o # A== AT Y A B ol B T AT B &7

Which organs helps fishes for swimming or movement in water?

(1) TS / Gills (2) 91esh / Scales
(3) %=1 /Fins (4) BYBRY / Lungs

(13) i fors ST W Ta+ el &7

Which organ is used for respiration in leeches?

(1) BFRA / Lungs (2) w@rem / Skin
(3) TABS / Gills (4) =g YOIl / Trachea

(14) =1 & &1 9l HopTeT BT ATT & —

Which of the following is the part of Thoracic Skeleton?

(1) @St / Skull (2) ®IFR / Femur
(3) u=Aell /Rib (4) =ifoT #_gE / Pelvic girdle
(15) a7 ¥ TS—Tel g Sidl A ST HISTH U Db UTefereh ST Pl ¥&es & BT
HT AT © —
By getting food from decaying and dead organisms in forest and keeps natural habitats
cleanis-
(1) 99 / Hyena (2) #fear / Wolf
(3) SiTell 3R/ Wild boar (4) IR/ Jackal

% B
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(16) dTY STTERUTE —
Airis an example of -
(1) 8191 / Mixture (2) @91 / Salt
(3) 37T / Acid (4) &R® / Base
(17) 3N o e
3UET B TR
on heating
Solid ————= vapour
on cooling
SURIST FfohaT 8—
The above process is -
(1) MYH=EYT / Centrifugation (2) SAYTEH / Sublimation
(3) @TedIehROT / Veporisation (4) RIS/ Filtration
(18)  fFr=iferRad # & aens gRad+ & —
Which one is the unstable change?
(1) &8 UR S ST/ Rusting of iron
(2) g ¥ €& g1 / Formation of curd from milk
(3) STAR T ST/ Burning of tyre
(4) 9% &1 frESHT / Melting of ice
(19) <9I & STl faeaT fARd & ..o Bl & —
The aqueous salt solutions are electrically .
(1) =Tl / Conductor (2) BATTD / Insulator
(3) Sa™F / Neutral (4) =TS / Semi conductor
(20) T &Tq T eI I HH EIAT 82
Which metal has very low melting point?
(1) Fe (2) Ga
(3) Sn (@) Cr
% Hrd
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(21) T e B AT & el (BRIAF) H SAHR QT 1T 27
Which metal is kept dipped in kerosene?
(1) |@IfET™ / Sodium (2) V8T /Iron
(3) f&H / Tin (4) =9 / Magnesium
(22) I T BT SETERUT & —
Example of synthetic fibre is -
(1) © / Cotton (2) g€ / Rubber
(3) & /Gum (4) XTTE /Rayon
(23)  CaCo, i e S
on heating
JURTFT AFATHAT BT ot I —
Complete the above reaction -
(1) CaO+C (2) ca+cCO,
(3) Ca(OH),+0, (4) cCaO+0,
(24) RHEIE B RAT D 2US I H I I UTd § —
The most suitable substance used in making of handles of kitchen utensils is -
(1) dfferel= / Polythene (2) IIETE / Nylon
3) G, /PV.C. (4) d@TST / Bakelite
(25) T rTAT H UTS T ATl T & —
The non-metal found in liquid state is -
(1) S99 / Bromin (2) 3iTeATSI / Oxygen
(3) ATSEISH / Nitrogen (4) @17 / Carbon
(26) T | AU BIAT & —
The odometer is used to measure -
(1) g1 / Distance (2) eHA / Area
(3) 3= / Volume (4) TTet / Speed
Y% A
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(27) oo =mer 1 Y A ATel axq BT R—HT T 7 < B 27

Which one of the following graph between distance and time is for an object moving with

auniform speed?

0 2

¥ / Distance
g3 / Distance

9 / Time —p b9 / Time —»

A

I / Time —p Y / Time —»

¥ / Distance
X1 / Distance

(28) <19 BT HED & —
The unit of pressure is -
(1) =& / Newton (2) ®feas /Kelvin
(3) uI=hel / Pascal (4) Spet / Joule

(29) TEYUAY 994 BT UREEHT AT & —

The phenomenon of formation of rainbow is known as -

(1) TRTGET / Reflection

(2) fowRa uRTace / Diffused reflection
(3) ured uRadH / Lateral inversion

(4) fa&HoT / Dispersion

(80) BR B NV B T BT @ B Y bt YHR & U7 b1 SR b vy 22
Which mirror is used to see the rear view of car?
(1) <71 UYT / Convex mirror
(2) \¥aS SUYT / Plane mirror
(3) et@de €YT / Concave mirror
(4) e guor / Spherical mirror

% B
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(33)

(34)

(35)

Sl BT AHD & —

The unitofenergy is -

(1) &= / Newton (2) fherm / Kilogram

(3) ST / Joule (4) dTe / Watt

gedl & feTY IlTa 97 T 719 & —

The escape velocity for earth is -

(1) 11 fHH /. 11 km/sec. (2) 5.5 fHHY /4. 5.5km/sec.
(3) 22 fH9Y /. 22 km/sec. (4) 11.2 fHT /9. 11.2km/sec.

feyiferRac wereit 4 & fraeT SuanT emidex & 5T wmar 27
Which material is used in thermometer from the following?

(1) 9RT / Mercury (2) @IfeT™ / Sodium

(3) RS / Zinc (4) =Y/ Silver

fehvr ST # fara Sott 1 ST Sroit 3§ waT=aRor Brar 82

Which of the following apparatus converts electrical energy into heat energy?

(1) fag]e AIex / Electric motor (2) feE]T =% / Electromagnet

(3) ﬁﬂﬁ 81X / Electric heater (4) f%l'sg?f ¢l / Electric bell

IR IR STRET H 4T 7T Yo HI3H SUUE &7 7 & —

The name of first Indian artificial satellite launched in space is -

(1) ¥R<hR—1 / Bhasker-1 (2) peu—1 /Kalpana-1
(3) IMIME / Aryabhatt (4) ATl /SLV
ATl g1 Rerd € —

Majuli island is situated in -

(1) WM H /In Ganga River

(2) 98195 T H / In Brahmputra River
(3) THATET %/ In Yamuna River

(4) BT T H / In Kaveri River

NMMSE 19 - SAT

P.T.O.



(38)

(42)

10

ATGHISE H PIeT—STZ—3MFATSS BT Ufaerd & —

The percentage of Carbon-Di-Oxide in the atmosphere is -
(1) 0.01% (2) 0.93%

(3) 0.03% (4) 0.06%

Gl OX HIG[E AR ST BT fehe=T Ufrerd Siel 41 arg 87

How many percentage of water on earth is fresh and pure to used for drinking?
(1) 2% (2) 2.5%
(3) 3% (4) 3.5%

T8 A 5 IR BeleR 987 ST O &, heard) § —

The land on which fruit trees are grown, known as -
(1) B 9 / Agriculture land (2) TRTITE Y / Grazingland
(3) 9SR YA / Barren land (4) SE 9% / Garden land

"3IPT =T BT Hael fha T ¥ 2 —

"Appiko Andolan" is related to which state?

(1) ®HTe® / Karnataka (2) H8RTY / Maharashtra
(3) ISR/ Rajasthan (4) ST /Kerala
RAER el dTel g9 1Y 1 & —

Juicy fruit forest are found in -

(1) 2MAT™T HETTER a9 / Evergreen forest

(2) DIV &9/ Coniferous forest

(3) SWT HcqeIT WETEER g9 / Hot zone evergreen forest
)

(4 ‘EWI”T@?J?H / Mediterranean forest

RTSTRAT SIHRIRET 2011 & SR ST T fATuma & —
The gender ratio of Rajasthan according of census 2011 is -

(1) 930 UfT R /930 per Thousand

(2) 928 Ufdl SR /928 per Thousand

(3) 932 ufel &9TR /932 per Thousand

(4) 926 Ufcl 8SR /926 per Thousand

% BRI

NMMSE 19 - SAT PO



(43)

(44)

(45)

(46)

(47)

(48)

11

SIFTOTAT 2011 @ TR ST T ATERAT Ufeerd & —
Literacy percentage of Rajasthan according to Census 2011 is -

(1) 79.2% (2) 52.1%

(3) 66.1% (4) 54.9%

TR & JRHAT D R HaT & —

Who appoints the Chief Minister?

(1) rsgufd / President (2) IrsU9TA / Governor

(3) UGl / Prime Minister (4) rST @1 g =AY / State Chief Judge

TG TSI BT Hee & —

Antyodaya scheme is related to -

(1) —Td==1 / E-Governance (2) B¥geX fR1er / Computer Education
(3) @Ter {YR&M / Food Security (4) TTHIOT ASHTR / Rural Employment

e Tl AR FforRad 3 A sfaeds T8l & —

Which one is not needed while driving?

(1) der STSfART eTg=d / A valid driving license

2) ATETS A BT YA 1 HRAT / Do not use mobile while driving
(3) =rem PRSP gre A T / Do not drive after drinking

(4) S f3rféra M1 / Highly educated while driving

TR g1e T faw] #fex Rerd & —

Vishnu temple Angkorvat is situated in -

(1) P¥gST / Kambuj (2) W™ / Sayyam

(3) T / Champa (4) g9 / Burma
fr=rferRad 9 &Y & |HY waferd o) T8l o1 —

Which one was not form of tax mentioned the period of Harsha?
(1) W7/ Part (2) f@va /Hiranaya
(3) X9 /Ratan (4) afer / Bali

I% F
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(49) EHIR ARG B THHTHR BT 7H & —
The writer of "Hamir Mahakavya" is -
(1) RIS / Jodhraj (2) &= ¥/ Naychandra Suri
(3) TE<€ <9 /Kanhad Dev (4) R €9 / Hamir Dev
(50)  irETTE el T femTor fopey wmres = Rpar?
Which emperor built the fort of Lohagarh?
(1) o1 Rig /Badan Singh (2) YRSHS / Surajmal
(3) STARAE / Jai Singh (4) S99 A8/ Ishwari Singh
(51)  rHet gael Rerd & —
Nathmal Haveli is situated at -
(1) SITEAR / Jalore (2) SEYR / Jodhpur
(3) SIISHR / Jaisalmer (4) SYR / Jaipur
(52) T RS fba Gl T ST vorT 27
Nankana Sahib is the birth place of which saint?
(1) TTgEdTel / Dadudayal (2) ¥MTFYE / Ramanand
(3) PR /Kabir (4) AT/ Nanak
(53) =TT # ¥ srawey arey & —
Which one is Avnadhya instruments?
(1) @SdTl / Khad tall (2) XTEYT BT / Ravan Hatha
(3) SIS / Algoza (4) SHART / Ek taara
(64) AT ATk ¥ XA by TR & UT €Y oy 27
The standard time of Meridian of India passes nearby which city?
(1) BT / Kolkata (2) goITEdTE / Allahabad
(3) 998 /Mumbai (4) f&e=l / Delhi
(55) 2R AR &3 7 IR S a1l 9719 &7 YR & —
Which type of grass is found of the part of 'Thar desert'?
(1) B /Ker (2) 4R / Thor
(3) }TRUTT / Aarna (4) @97 / Sevan
% BRI
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(56)

(67)

(58)

(59)

13

RIS ¥ ST fa¥ToTe vem & —

Water dividing line of Rajasthan is -

(1) 3RTael / Aravali (2) greictl / Hadoti

(3) IR / Thar (4) f&¥9TeTd / Himalaya
frferRaT # | SIa @1 BTel & —

Which one is Jayad crops?

(1) SaR / Sorghum (2) T8/ Wheat

(3) ax4™ / Barseem (4) Tmdel /Rice
fr=feRaa # 9 arfcas @f=et & —

Which one is metallic minerals?

(1) 9% / Mica (2) TTeT 3139 / Copper Ore
(3) TsTH / Gypsum (4) IT8E / Granite

Aq fAHRT GaBId B 3iTdhs STRI fHy S1d & —
The data of Human Development Index provided by -
(1) Sg, T4, 3. / W.H.O.

(2) HgT T fdepTa B1RIHH / UNDP

(3) HgFT T YGTARYT BIIHH / UNEP

(4) grem uﬁq‘cr £8.0.

TR LT T & AT el o —
Who was the permanent chairman of Constituent Assembly?

(1) Afeerere R8T / Sachchidananda Sinha
(2) HAiTelTel 8%/ Motilal Nehru

(3) 1. JTo= U™T& / Dr. Rajendra Prasad

(4) ¥RER YT / Sardar Patel

14 99 J B Y $ Fa] W WaRATD HIY TEl HRIAT ST Al &, THDT Hdel & —
Children below the age of 14 years cannot be deployed in hazardous jobs, itis related to -
(1) Tac=eT & SR A/ Right to Freedom

(2) 99T & fI%g SME®HR W/ Right against Exploitation

B B
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(63)
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(3) et ST=RY @ sy o / Rightto Constitutional Remedies
(4) FAFT B AfBR Y/ Right to Equality

XTSI & U9 & =T g 890 =iy —

The minimum age needed to become a President of India -
(1) 25 (2) 30

(3) 35 (4) 40

AT BT g g3 o7 —

The battle of Plassi held in -

(1) 1761 () 1784

(3) 1757 (4) 1765
18576%25[%%%%%%?31?@9}—

Who was the Governor General of India at the time of Revolt of 18579
(1) &S BT /Lord Canning (2) TS &89 / Lord Clajve
(3) @S dfeTr /Lord Benting (4) <€ ¥4 /Lord Mayo

1856 Wﬁmmmﬁmmmﬁm%mw?
From whom efforts Widow Marriage Act 1856 took place?

(1) XTSI % Hrg= v /Raja Ram Mohan Roy

(2) T R /' Dayanand Sarswati

(3) S¥avEE RAERIR / Ishwarchand Vidhyasagar

(4) ¥ I / Swami Vivekanand

ﬂmﬁrzﬁﬁmmmﬁ%’ﬁﬁwmw—

Who was the first to oppose the exit of property?
(1) FETHT TRl / Mahatama Gandhj

(2) arem™TE RIS/ Dada Bhai Nouraji

(3) ¥RER U / Sardar Patel

(4) STATER AT €% / Jawahar Lal Nehru

X% B
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(67) ffead ¥ fovar sifdifAam & T a8f BT TR & gere R T Tar?
In which act Burma had been made isolated from India?
(1) 1909 (2) 1919
(3) 1935 (4) 1947

(68) R BN o7l HHT Pl THTS & —
The length of Indian land border is -
(1) 7516 f&HT /km (2) 15200 fHHY /km
(3) 18000 ¥l /km (4) 9050 fHHT /km

(69)  XTHRWT AR &I TR fhas Y7
Who founded 'Ram Krishna Mission'?
(1) f@d®™=< / Vivekanand
(2) T WG / Dayanand Sarsawati

)
(3) RTSTIRTH |- 1A/ RajaRam Mohan Roy
(4) U1 S99/ Ani Besant

(70)  "“STh YAT" YR HIWLH AP A aTeAT 15 2T —
Which state banned first "Dakan Pratha"?

(1) STAYR / Jaipur (2) STIYR / Udaipur
(3) SIEQR / Jodhpur (4) 3STAR / Ajmer
L. o1 -
(71) s by &1 A BT
Valu1e3of 3%+ 1% isequal to - .
OFE! CE
13 65
OF Of:

(72)  feU TC HaEYS | i favail FHfHa YTy i S dadl 87

How many lines of symmetry are there in the given regular polygon?
(1) 4 (2)3
3) 6 (4) 10

I% B
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(73)  foU w19 ferar & avor x oy A7y ey — i
Value ofangle x in the given figure is -
(1) 40" (2) 50° o
(3) 45" @100 & o
(74)  afS 20+ 7= 1581 @Y x &7 5177 Byy —
I[f2x+7=15, thenvalue of x is -
(1)8 (2) 4
(3)7 (4) 11
(75) 14,12, 16,8, 10T HHTR A1 8T —
Arithmetic mean of'14,12,16,8,10is-
(1) 15 2) 12
(3) 20 (4) 10
(76) e nagyST forres yede arer T 450 &, ¥ oTa @ e gty —
Aregular polygene whose measure ofan each exterior an gleis 45" has number of sides -
(1) 4 @) 6
(3) 8 @) 12
(77)  afe <1 9201 & ot bt arqrer 4 - 5%‘6#3‘!?#@%%@@@13%—
The ratio of diameter of two circle is 4 : 5. The ratio of their area is -
(1)4:5 (2)5:4
(3) 16:25 (4) 64:125
(78)  feo<h sgweres ﬁﬁsﬁé@ema‘raﬁm%ﬁaﬁmsﬁvﬁ—
A polyhedron whose vertices are 8 and faces are 6 then its edges are -
(1) 12 ) 14
(3) 2 (4) 48
(79) =T 245 % 4 BT UHTf&H gdor g T —
Ekadhiken poorven of4 in 245 is -
(1) 4 (2)2
(3)5 (4)3
% HR
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(80) W HIVT HT A AU WIS DI & aRIER B, TE DI BIIT —
Angle which has equal value as its supplementary angle is -
(1) 45° (2) 80°
(3) 90° (4) 180°

(81) AT 121 BT T F¥eT BT —
The cube of number 121 will be -
(1) Ush 9 =T / An even number
(2) Ts fa9H F¥&T / Anodd number
(3) U H a1 fays |W=AT / Aneven or odd number
(4) 39 & ®IE T8I / None of these

1
82) @YV ®AFE -
1
Value of (4 is-

(1) -1 @)
OF (@)

1
[

N N

(83) U AGHS THH A YSIRIT BT bael Ueh SIS AR & cifchd qHI 81 8, I8
TG BT —

A quadrilateral having exactly one pair of parallel sides, but sides are not equal. The

quadrilateral will be -
(1) 9T /Kite (2) FATR FAFHS / Parallelogram

(3) W@ﬂa / Rhombus (4) wHerH TS / Trapezium
(84) UD 21 |HY. 3T ATl UfRY BT 2 TIFHR AN A TF DI T8 §ul o

The distance covered by a rotating wheel of radius 21 ¢m. in 2 rotations is -

(1) 264 THI. /264 cm. (2) 84 WY, /84cm.
(3) 44 WHY. /44 cm. (4) 132 991, /132 cm.
% BRI
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39 : 65 BT AXCITH U & —
The simplestratio 0f39: 65 is -

(1)3:5 2)5:3
(3) 12: 11 @) 11:12
T (ATSiTIR) T e & —

Bodhayan (Pythagoras) Theorem is true for -

(1) =7 Proy f_;‘{‘j\_r[ % foTY / Foracute angle triangle

(2) THBIOT %Pjﬁ & oY / For rightangle triangle

(3) 31feres oy %l'ﬂTﬂ & foTT / For obtuse angle triangle
(4) 379 9 DI T/ None ofthese

HETH 100 U1t Heemai # fosae qof af ey ey 27

How many square numbers are there in first 100 natural numbers?
(1) 10 ) 12
(3)8 ()6

Ry g g §3 a'b' ¥ a’ BT TR & —

The coefficient ofa’ in the giventermis -

3 3,

(15 0b @5 b
=3

(3) b (4) 5
7325+ 1000 T |17 & —
The value 0f73-25 + 1000 is -
(1) 07325 (2) 7-325
(3) 73250 (4) 0-07325

(90) =BT w7 SuERT e & forg e S & —

The symbolic notation ¥ use for -

(1) a7t / Square 2) a"'f"j\?! /' Square root
(3) & / Cube (4) T/ Cube root
% BT

NMMSE 19 - SAT PT.O.-



